
Assembly instruction model "90xx-ER"
Leg DL05 with swivel
90xx-ER-DL05-WS

1/3

F x 2
"10"

05-002043

E x 4
M6

05-002042

G x 1
L4

05-001139

H x 1
L5

05-002050

A x 1

03-001487

C x 8
WKIZ M6x40
05-001888

B x 8
NE M6x15
05-001036

D x 4
SSZ M6x20 C
05-001994



8x

2/3

1

A x 1

03-001487

C x 8
WKIZ M6x40
05-001888

B x 8
NE M6x15
05-001036

G x 1
L4

05-001139

H x 1
L5

05-002050

H

C

BG

A

2

1

lower

Regulation of leg
1.Untigten lower leg
2. Move down
Fix it



3/3

4x

2

D

E

F

F

D x 4
SSZ M6x20 C
05-001994

F x 2
"10"

05-002043

E x 4
M6

05-002042


	1s
	Листы и виды
	Модель


	2s
	Листы и виды
	Модель


	3s
	Листы и виды
	Модель



